Gidi bai 4 trang 160 sgk todn Dai S6 16p 10

Dé bai:
Chirng minh cac bat dang thirc sau:

a)5(z —1) < z°-1 < 52z —1),biétz—1 >0
b) ® + y*—ziy-zy* > 0, biétz +y >0

c)vda+1+4 4b+ 1+ \/4c+ 1 < 5, biétrang a, b, ¢ cing Ién hon —%vé a+b+c=1.

Pap an:

3

az—1>0=z>1=2zt>7 Sz?>z>1

st 4+22424+1>5

= bz

=25zi(z-1) >(z-1)(z*+ 2?4+ 22 +z+1)=2-1>5(z—1)

Vay 5(z — 1) < -1 < 5z*(z — 1) khiz > 1.

b) 2° +3° — 2y —zy'= (z +y) (2" - 2y + 2% — 2y +¢') —2y(e® +47)

= (z+y) [(;r" — 2%y + 2%y° —my3+y4) - xy(zQ— my+y2)]

= (z+y) [(.’t" +2z2y2+y4) — 2zy (m2+y2)]

= (.r+y)(z—y)2(z2+y2) >0doz+y>0;(z—3)>2>0,224+y>>0

¢) (VIa+1+/b+1+ /F+1)>
=d(a+b+e)+3+2y/FaF1/db+1+2/AaF1,/Ac+1+2\/db+1/FcF1

<4la+b+c)+3+(4a+1)+(4b+1)+(4a+1)+ (4dc+ 1)+ (4b+ 1)+ (4dc+ 1)
<12(a+b+¢)+9<21<25
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